Deviation [sigma] Deviation [sigma] Flux

Deviation [sigma]

1.0

0.5

0.0

-0.5

20

10

-10

-20

20

10

-10

-20

20

10

-10

-20

Al1742-294 OP05218 W2_NO08_200s.txt / MJID 51057.636945 / burstid= 912

Time [s]

- Grey line: exponential fit Peak flux: 1.089+/- 0.292 c/s/cm? N
: Black Iing: power law + gauss fit Fluence : 5.58+/- 2.38 c/cm? :
— Dashed fine: power law Duration : 15.35+/- 8.67 s —
- Best fit model: 1. _
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; Power law fit é
E Power law index: -1.023+/- 0.289 (chi*-red= 0.81) =
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— Power law fit plus Gaussian (st.dev.= 36.01+/-***** s, fracgs= 0.03+/- 0.25) =
- Power law index: -0.930+/- 0.014 (chi*-red= 0.81) 3
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